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struct Node {
int 1,r;
int lson, rson;
int data M [1,3) [3,5)
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build(0, 7, 0)
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int array[MAXN];

Node ST [MAXN*2];

int stptr = 0;

volid build(int 1,int r,int index) {

ST[index].1=1, ST[index].r=r; 13)

1if( 1 = r-1 ) 17
ST[index] .data=array[1l];

else |
int lson=ST[index].lson=stptr++;
int rson=ST[index].rson=stptr++;
build(l, (1+r) /2, 1lson) ;
build((l+r) /2, r,rson) ; A . > 2
ST[index] .data=max (ST[lson] .data,ST[rson] .data) ;
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vold modify(int x,int v,int index) {
1f( ST[index].l == ST[index].r-1 )

else |
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ST[index] .data=v;

int mid = (ST[index].l1+ST[index].r)/2;
int lson=ST[index].lson;

int rson=ST[index].rson;

1f( x < mid ) modify(x,v,lson);

else modify(x,v,rson);

ST [index] .data=max (ST [lson] .data,ST[rson] .data) ; [??
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int query(int 1,int r,int index) {
1f( ST[index].l == 1 && ST[index].r == 1 )

else {

5 [5] 8

query(2, 5, 0)

[017)
17

return ST[1ndex] .data;

int mid = (ST[index].1+ST[index].r)/2; gmm
int lson=ST[index].lson; 13
int rson=ST[index].rson;
1f( r <= mid ) return query(l,r,lson); [1,2)
else if( 1 >= mid ) return query(l,r,rson); =
else return

max (query(l,mid, 1son) ,query (mid, r, rson)) ;

13 17 11 7 8 5 2
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void modify(int 1,int r,int v,int index) {

else |

5 [8 (B 24

modify(1, 5, 1, 0)

[017)

1f( ST[index].l == 1 && ST[index].r == 1 )
ST [index] .data += v;
int mid = (ST[index].l1+ST[index].r)/2; [1,3)

int lson=ST[index].lson; i

int rson=ST[index].rson;

if( r <= mid ) modify(l,r,v,1lson);
else 1f( 1 >= mid ) modify(l,r,v,rson);
else modify(l,mid,v,lson), modify(mid,r,v,rson);
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int query(int x,1int index) {

else |

qguery(3, 0)

[017)

1if( ST[index].l == ST[index].r-1 )
return ST [index] .data; [1,3)
1
int mid = (ST[index].1+ST[index].r)/2;
int lson=ST[index].lson; [1,2)
int rson=ST[1ndex].rson; 0

1f( x < mid ) return ST[index].datatquery(x, lson); [2,3) [4,5)
else return ST[index].datat+query(x, rson); i 6
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